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1 A< 3B 522 4xkskpsoiokokxk 291 1 ek
2 oA 5B 110 soketsototetsiokk 351 7 =
3 5k i 5 211 Dstsoriorsor 2915 =k
4 R 5 11023kkkk43%0039 =
5 FRAE S 7 3702%kk kK% 5%k%0525 g
6 70 R 5 2224tttk 1 250 =
7 S5 5 A2 Akkkkkkx k%827 | =
8 WS 3B 110 soketsototetiokok 2714 =
9 = 5 110 Tsskskstsksketskokk 4536 =
10 B % 340 sksksksrksknkk 7012 =
11 S = 14025%ksksksksdokokok k29 1 6 =%
12 XS 5B 1202sskskksiskekokeok k6016 =%
13 | &bk 5 5325k pkkkkioriok00 1X =k
14 K I B 3729%skskkkkkk k%937 () =%
15 uwIEMEE S 37024 kkskstckokskok 1 012 =
16 N 2! 3702s%kkkkkkxk% 261 7 =
17 X1 8 B 110 1ssksksksksoksok k6814 =%
18 i< © 1 502skskskskskskoksokk 3925 =




19 S 1 211 2kskkstokokskdorok 1405 =
20 sk i 52! 1 306ksksksksksokskoksk 1 231 =%
21 A AR Uy 211 kskksiokk k%2618 =11
22 2SI @ 1305%skskskskskokskkk (0822 =%
23 L NCE % 4325%kkkkokkokk 1 714 =377
24 =T @ 130 Tskeksketskateskskoksk 1 528 e
25 IS 3B 410 Tspsittkskok 205X F 2
26 Z= 5 3304skkskstsoksrekekok00 1 7 b4
27 + % % 110 stttk 04 37 F %
28 T g s 3702 kskkskstokokekk 4419 e




